UBUNGSKONIG

Binomische Formeln 2 (Losung)

1. Schreibe ohne Klammern!
a) (2x - 6b)?
=4x2 -2 - 2 - 6xb + 36b? = 4x2 - 24bx + 36b?
b) (-6 - a)?
=(-6)> -2 - (-6) - a+a?=36 +12a + a2
c) (4a + 5b) (4a - 5b)
= 16aZ - 25b?
d) (Ga + 3r)?
=%a2+2 - %a- 3r+9r2=i:=\2 + 3ar + 9r?
e) - (3b% + 4a?) - 3 + (3b + 2a)?

= - (9b% + 12a?) + (9b2 + 2 -3b-2a + 4a2)= -9b? - 12a? + 9b? + 12ab +
4a?
= - 8aZ + 12ab
2. Lose mit Hilfe der Binomischen Formel!
a) (x + 2y)? = x2 + 4xy + 4y?
b) (4x + 2)2 = 16x2+ 16x + 4
c) (3a - 2b)? = 9a%- 12ab + 4b?
d) (3x + 5y)? = 9x2 + 30xy + 25y?
e) (4x + 2) (4x - 2) = 16x%- 4
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